22—y + x4 by —a o] F DA FOR <
(2, a = A35)
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=]
=

w, a o] e

® 14

-y +9x+5y—a

=(x+y+a)(x-y+p)

=22 =y +(a+p)x+ (-a+p)y+ap
atfp=9

+)—a+p=5

2p=14
B=T,a=2
La=-af=-2x7T=-14




2. (= D(x=3)(x=5)(x—7) +k 7t FAAFA] HEB 44 k o

29

® 2 @ 4 ® 6 @ 11 ®)16

(x-Dx-7)(x-3)(x-5)+k

:( - 8x+7)(x>—8x+15) +k
—Sx=A=% EOH,

(A+7)(A+15)+k

=A%+ 22A+ 105+ k= (A +11)2

5105+ k=112 =121

k=16




3. 15x7.62-742x15 9] gre?

@ 55 @ ® 35 @ 15 ® 10

~&B

(£4]) =15 x (7.62 - 7.42)
= 15X (7.6 + 7.4) x (7.6 - 7.4)
=15%x15x%x0.2
=45




